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3E1 1 i 5 =N
3FE1E 1 T*§9 5 =N
3E1 10 MrEhE 5 =N
3FE1I 11 BE*EE 5 =5
3FE1 11 T*F 5 =N
3FE1I 3 Zh*F 5 =N
3E1 4 BErE 5 =N
3FE1I 9 & 5 =N
3FE1 9 B X =5
3FE1I 7 =i X =5
3FE1 8 A+ A X =N
3FE1E 4 BR*38 Z =5
3FE 5 ZE*Al X =5
3FE1E 6 SR 8 =5
3FE 6 SerER X =5
3FE1E 7 M 8 =5
3FE 2 sR*%& X =5
3FE1E 2 #F* 58 8 =5
3FE 2 S X =5
3FE1 11 5B X 53
3FE1 11 & X =5
3% 23 2 BR*E = =EF
3F 23 3 i 5 =2
3% 23 4 T3 5 =25
3F 23 4 Gl 5 =2
3% 23 4 L = =25
323 3 B> 5 =2
323 3 =*h 5 =2
3231 2 ZhriE 5 =2
323 2 BT 5 =2
3231 10 M*EZ 5 =2
323 1 i 1h 5 =2
3231 1 38 5 =2
323 4 2= 5 =2
3231 4 T*7T 5 =2
323 8 o * ¢ 5 =21
32T 7 iR 5 =B
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3F231 8 R i 5 =218
323 8 i X =218
3F231 8 R+ X =218
3F 231 4 ZF+3E 8 =218
3F231 4 B * 4z X =218
323 5 BB 8 =218
3% 23 5 R X =218
32 10 | Z ey
3F231 10 2 E X =218
3F 231 2 [+ 8 =218
3F231 3 FRHEE X =218
323 3 SHE 8 =2
333 3 R*ES = B SRR
333 4 h*3= 5 B SR AR
333 3 LM 5 B SRR
333 2 sR* i 5 B SRR
333 2 Rz = B SRR
333 2 sR*AH 5 B SR AR
333 10 R 5 B SRR
333 10 R el = B SR AR
333 L e 5 S R AR
333 6 =5l = B SR AR
333 6 B 5 S R AR
333 4 Z0*1h = B SR AR
333 5 TR 5 S R AR
333 8 EIR = B SR AR
333 8 73R 5 S R AR
333 9 BR* &R 5 S R
33T 9 Z*1% 8 B BB A
333 9 =Y 8 S R
33T 8 A 8 B BB A
333 8 =43 8 S R
33T 4 R 8 S BB A
333 7 RS 8 S R
33T 6 R 8 S BB A
333 6 A5 8 S R A
333 6 G %8 S R A
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33T 11 Vi Z 728 RN
333 3 o= Z iE2B TR
33T 4 sR* 4 4 728 RN
343 3 &R *5l =2 calRSEay
343 2 A5 =2 2){aEt
343 2 B~ 4 =2 calRSEay
3E43 10 5 =2 2){aEt
343 1 FE =2 calRlSEy
343 11 2l =2 2){aEt
343 11 =B =2 calRSEay
343 10 ER*fE =2 2){aEt
343 6 SR &g 2l st
343 6 R 8 calRlSEay
343 6 el 8 calRSEay
3F4PT 5 E*5l & calRlSEay
343 6 BB &g calRSEay
343 5 ER*fB 8 calRlSEay
343 5 St 8 calRSEay
343 9 2 8 calRlSEay
343 8 SR*TH 4 2aEt
3431 7 B Z calRlSEay
343 8 Pk 4 2aEt
3431 5 53 Z calRlSEay
343 1 =8 Z 2aEt
3431 1 *HE Z calRlSEay
343 1 2*fix Z 2aEt
3431 10 G Siing Z calRlSEay
343 1 BF Z et
3E4HT 11 B *1% Z EhsEay
343 11 2 Z EN(SEay
3E4HT 11 sR* I Z EhsEay
3EF5HE 2 E b 2 5T HERS
35 11 [ = 2 =T HERS
3EF5HE 10 %19 2 5T HERS
35 10 ) 2 =T HERS
3EF5HE 1 5 2 FTHERS
35 10 =5 2 5T HERS
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3F5HE 1 fR*Z= =2 5T HERS
35 6 B =2 5T HERS
3F5HT 5 =*5 =2 5T HERS
353 5 == =2 BT HERS
3F5HE 8 &+ =2 BT HERS
353 9 BS54 =2 T HERS
3F5HE 7 Z il =2 BT HERS
353 7 2015 =2 BT HERS
3F5HE 7 M+ =2 BT HERS
35T 7 T8 b8 BT HERS
3F5HE 7 8T 4 BT HERS
35 8 B+ 4 T HERS
3E5HE 8 B+ 48 Z BT HERS
35 6 Fh*1F Z FTHERS
3E5HE 1 A4 Z BT HERS
35 10 B 4 FTHERS
3E5HE 11 i Z BT HERS
35 2 ER*3% 4 FTHERS
3E5HE 3 Eraind Z BT HERS
35 3 = Z ETHERS
3611 10 TEXIR 8 PREZ
3FE6E 11 2= 8 PREZ
3611 11 AE*1E &g PREZ
3F6E 11 B+ &) =2 PREZ
3631 1 T 8 PREZ
3F6E 1 2 =2 PREZ
3631 5 fR*ZE 8 PREZ
36t 4 = * 18 8 PREZ
361 6 fa*$9 8 PREZ
36t 6 Pkt 8 PREZ
361 6 =2 8 PREZ
36t 7 HE 8 PREZ
361 8 A * 5 8 PREZ
36t 8 = iges 2 PREZ
361 8 BB 8 PREZ
36T 9 Eaa 2 PEBEE
3631 9 2K 2 REZ
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3F631 9 i X BRE=
3F63T 9 B X BRE=
3F631 4 NG X BRE=
3F63T 5 BR*5 X BRE=
3F63 L i X BRE=
3F63T 10 R X BRE=
3F63 10 pR*3% X BRE=
3F63T 2 MR Z BRE=
3F631 2 HE X BRE=
3F63T 3 R X BRE=
3F7H 2 T 5 35
3FT7I 3 sR* M8 = i
3FT7H 11 E*ﬁ 5 $5
3FT7I 10 EERPI 5 - $5
3FT7I 11 =R 5 B2
3FT7I 10 T = EEKR
3FT7I 10 FR R 5 $5
3FT7I 6 =+ 5 i
3FT7I 5 B = 5 $5
3FET7H 5 B+ R 5 E==2%
3FET7H 5 Ef+5E = BEEIR
3FET7H 4 = 5 E==2%
3FET7H 4 E2*IR = BEIL
3FET7H 9 fE T 5 E==2%
3FET7H 9 =R = 73 $54
3FET7H 9 M*E 5 E==2%
3FET7H 9 2 X BEEIR
3FET7HE 8 ATAN 8 ==&
3FET7HE 9 FHZ 8 (G35
3FET7HE 6 = 8 (G35
3FET7HE 6 B*fR 8 (G35
3FET7HE 11 BR* 17T 8 (G35
3FET7HE 2 218 4 (G35
3FET7HE 2 47 8 ==
3FETHE 3 BR*I5 8 (G35
3FETHE 9 TrE 4 (35
38T 10 Brs 5 #RERE
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383 11 = 5 7R
3FE8IT 2 fR & 5 R R
383 3 PR *3R 5 ZER R
3F8I 3 Bl 5 R
383 3 B2z 5 R
3F81 4 N 5 R
383 4 BR*15 5 R
3F8IT 4 L 5 7R
383 6 B 3% 5 R
3F8I 6 =l 5 R
383 8 8 5 R
38T 7 M*1h = R
383 7 kg2 5 R
38T 7 FrE 5 R
383 9 T+ 5 R
38T 7 K= Z R
383 6 = X R
38T 5 ] Z R
383 4 B X R
381 5 MorEE X ERRE
383 4 g% X R
3FE8IT 11 =18 X ERRE
383 11 SR X R
3FE8IT L =*1a0 X ERRE
3E83T L =205 X R
381 10 B2 X ERRE
383 10 BER* 380 X R
35T 3 JE* g 5 EERE
359 3 ZhrF 5 ERE
35O 2 g5 5 ERE
359 10 BR*TA 5 ERE
35T 1 T 5 EERE
359 1 M= 5 ERE
35O 1 MrtE 5 EERE
359 6 BF I8 5 ERE
3F 9 6 A5 A 5 EEXE
3593 4 T2 5 ERE
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3F 9T 5 J* 5 ERE
35931 7 ZF*1F 5 ERE
3F 93T 9 L*E) 5 EERE
3593 9 == 5 ERE
3F 93T 9 T*5 5 ERE
3593 9 £ 5 ERE
3F 93T 9 e X ERE
35931 9 A X ERE
3F 93T 7 S5 X ERE
3593 7 TR X ERE
3F 93T 7 = % Z ERE
3593 5 238 X ERE
3G9 7 sR*F Z ERE
39N 11 S*Al Z ERE
3G9 3 B 4% Z ERE
3593 4 RS X ERE
3103 3 sR*A8 5 B35
3103 4 i = B35
3103 2 Z0* K 5 &3 3%
3103 2 BRI 5 & 3%
3103 2 TR T2 5 B35
3103 2 a2 5 & 3%
3103 10 255 = B35
3103 11 D 5 B335
3103 L I+ = = B35
3103 8 = 5 & 3%
3103 9 B E = B35
31091 8 &8 5 BB
3103 8 i 5 B33
31091 7 K= 5 BB
3103 7 L+ 5 B33
31091 5 =+ 8 BB
3% 103 5 FE AR 8 B33
31091 6 fa]* 4% 8 BB
3% 103 6 B> & 8 B33
31091 L M5B %8 B33
31091 10 B 8 B33
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31091 1 e X B3 3%
31031 10 RN X E085
31091 2 TR Z &3 3%
31031 3 = X &3 3%
3103 2 =5 8 &3 3%
3FE113 3 B> 57 5 L
3FE11 11 & 2 M=
3FE113 11 ZF*81 5 ML
3113 L FE+55% 5 IS
3FE113 7 =R 5 L
3113 5 =& 5 P
3113 5 = 5 ML
3113 5 A8 5 PSS
3113 8 BB 5 ML
3FE113 8 BEFR 5 PSS
3FE113 9 EE 5 ML
3FE113 9 i 5 PSS
3113 8 T*a 5 L
3FE113 7 iz 5 PSS
3FE113 7 =G = L
3FE113 5 RAEE X EDpiled
3FE113 4 F*3B X L
3FE113 4 MY X EDpiled
3FE113 6 M5 8 L
3FE113 L SR+ 4 X EDpiled
3FE113 L M5 X L
3FE113 11 =*iE X EDpiled
3113 11 E*fY 8 ML
3F119E 3 HEXER] 8 L
3113 FrE 8 ML




